A6 FEREREMSSEBESDBIIZOWVWT

AN 6 AR S IR AT
S O AU R 1 55

D [BIRZERRFEERE L ONH RERMS
IZOWT, Tt B BHLEWZLET,

R
ﬁ

BoE = # IR A R
= B K4 O = B X 4 RN
A = B 96, 000 [ BIEASE,
B = B 28,500 M HEAD, AO(B), 3,000 M
cC £ B 3, 600 [ A@(C)=E
(2) BAARERZSE OB
= B X 4 O
AD = H bt « DWITOMRE, FEEBLIOZCET 228 126, 000
A@(B)& B AD=ZBEBIUTAQ(C)=ALSO=E
4 7 1 RBAEOFRD 3 1Lk 64, 000 M
I 3 0mLL T 39, 000 [
A@C)= A EAMEIZES S HHEES B 21,000 M
B = B AQ(B)RED ) bEMERBIMAOEI 2 HiE LT R 28, 000 1
C = B AQ(C)RED ) LEMERBIMAOEIN 2 HiE LT R 6, 000 [

(3) 6 FEESEFBICONTITIRD LB LipoTVET,
1. BRESE
OEwtals G 83 mICiE L7-8H X v M)

@E@Wﬁ’ié%% ZOMEFRIOFER (HEFIRS) 12X 5%k
QEFE A% 5 M BT 5 kR
2.EKE%%%

Ot (i 83 TRICIET S X 0 EH)

QHEF VRS (HEROET DEEOFER 1 47H)
@FRIA. € OMFFHI O I K %Rk

DEFE AR 5 MR T 2%




LESHRORNE, KO LBV Eir>THY £T,
FHITHAE, KEEOMACOE TREHE 555 L5 L BEVH LETET,

(HA7 ;M)
o %14 %28 534
sEEOBE| DL F R
X 2
| sp | eA | 1A | sB om|wA|uA| 128 |18 |28 |35
A 32,000 32,000 32,000 96, 000
BEM S R| B 9,500 9, 500 9,500 28,500
C 1,200 1,200 1,200 3,600
A0 2,000 2,000 2,000 126, 000
(22, 000) (22, 000) (22, 000) (66, 000)
A® (B) 21,000 22,000 21,000 64, 000
i sk || (12,000 (12, 000) (12,000) (36, 000)
A® (B) 13,000 13,000 13,000 39,000
L [T (4, 000) (3, 000) (4, 000) (11, 000)
oo
x 7,000 7,000 7,000 21,000
AQ (C) (5,000) (5,000) (5,000) (15, 000)
B 9,000 10,000 9,000 28,000
&
c 2,000 2,000 2,000 6, 000
I 26,000 26,000 26,000 78,000
g |FEHRELY (22, 000) (22, 000) (22, 000) (66, 000)
BB R R BR 1T
mAT528| 4 (p) 16,000 16,000 16, 000 48,000
(12,000) (12,000) (12,000) (36, 000)
A0 2,000 22,000 2,000 66,000
| (22, 000) (22, 000) (22, 000) (66, 000)
HIEET - B
s | AQ (B) 12,000 12,000 12,000 36,000
sizomn | FIESE || (12,000 (12, 000) (12,000) (36, 000)
g | BEERD A0 (B) 5, 000 5, 000 5, 000 16, 000
‘ ﬂ[uﬁwiig XI0EUF (4, 000) (3, 000) (4, 000) (11, 000)
EEgS
5,000 5,000 5,000 15,000
AQ (C) (5,000) (5,000) (5,000) (15, 000)
E ¥ 2 % 3,000 3,000

% () NOSBIEREERARRESHS, AQ (B) OfRIT4 A1 ABEDERTT,




